
Asennus- ja käyttöohje

Listahylly



U30*25-223

645

12
5

44
5

55
5

64
1

55
9

25
00

72
1

59
9

689

834

35
00

12
5

44
5

55
5

64
1

75
9

83
4

72
1

689

59
9

25
00

502

12
5

44
8

54
8

64
7

64
7

870
961

94
6

982

35
00

12
5

44
8

54
8

64
7

74
7

84
7 96

4

946

94
6

961

982

U30*25-223

U30*25-132 U30*25-334

645

12
5

44
5

55
5

64
1

55
9

25
00

72
1

59
9

689

879

834

35
00

12
5

44
5

55
5

64
1

75
9

83
4

72
1

689

59
9

25
00

502

12
5

44
8

54
8

64
7

64
7

870
961

94
6

982

35
00

12
5

44
8

54
8

64
7

74
7

84
7 96

4

946

94
6

961

982

Päädyt

1-puoleinen 2500 1-puoleinen 3500 2-puoleinen 2500 2-puoleinen 3500

B

A

Ruuvi M8*75
+ lukkomutteri

Väliholkki

A

B

Kiilapultti M10*90 + aluslevy

Ruuvi M10-25
+ lukkomutteri



2-puoleinen hylly

1-puoleinen hylly

Palkki

Jakouloke

Muovitulppa

Lukko varmistin

Varmistin

Jakoseinä

2+2 kpl ruuvi M10x25
+ lukkomutteri

HUOM !
2 kpl palkki taakse



Lattia-alusta 182 mm

Lattia-alusta 282 mm

Lattia-alusta 1080 mm

EAB FINLAND OY

Puh. (09) 4520 170

myynt i@eab.f i    www.eab.f i

Kuusiokoloruuvi M10x25
puolipyöreä

Jalka

Betoniruuvi HILTI
HUS-H 8x80Lattia-alusta

Kuusiokoloruuvi M10x25
puolipyöreä

Jalka

Betoniruuvi HILTI
HUS-H 8x80

Lattia-alusta

Kuusiokoloruuvi M10x25
puolipyöreä

Lattia-alusta

Kiilapultti M10x90

Suoja-aluslevy

Ruuvi
M10x25

Pylväs 1000 mm

A
rt

.n
r 

14
00

00
10

3


